EARAROBEEIERT — 2 N— IBISH —F

20145108268 (B) 16E£R1H

m;qqt;g,g\ny,uj T XAHERIB1 —1 @ HIR—# (xwlw | mEmml - v ) w8
[AE4£] 1% :230,000” ~ 27%&:46,000”  33%&:20,000H” . 43%&:16,000 53 :9,000
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o — o= KEH :35. —5-5- X — hNEEfNE (£2R)
1B | 7IFFNTF R i IR U e
R:IANZATIVYG B:YLoxHey b KE BE
N = BEEHEAR :35. -1-1- . — 2XRE (&R
2 4 JIxHH5T 4 6 i 1(345)9 1-1-1-1 | 39.8 2 (4_627) s
:7)—>77O0-X B:/—Y-—QO-—v> BE f5—
— 7 HFEAX :36. -3-3- . - £H—8 (£R)
317l g |72 b=+ L oA 1(3‘88 4-3-3-3 | 40.5 5 (4_755) a2
R:ZFAT—IK B:814F717VU— (B) #BA3—-RKL—va>AaE77
5 4 5 | REE 1:37.5 6-8-7-6 |40.0| — 8 481 | HARR (£R)
4)8/10] 7T VK- 56.0 3) (-3) |ERNEZ '
R:viNyBgLHTr BEELICTINT [Ev e ]
N — s EMESH :37. -2~ . — EiEEE (£R)
50111 X*f‘/a'77f_77 "4 ;6.0 (1739775) e 4 ! (5_036) Eﬁ%g{:
AR T4 =T BNAINIF v — =]
. BAA— .37, P . — -2 (£R)
6l5l5|3/5—7a— H o6 S (17:;75) 6-6-8-6 | 40.1 10 42;3 S
R:4Z/F¥LLy b BTz H—LA J—HrIr—L
o N FLPEEL : —6-6- - Iz (£R)
7 7| by THR= 4 o8 A 1.(317>.7 8-6-6-5 | 40.6 7 <4+735) e R
LRYILN—F B:7x—UF7o14—> Elatie
N N MEBH : -9-9- — HIgsAE (£R)
slgli| Ty 7xvrE~ it 6 57.:6 1.(317).9 9-9-9-8 |39.5 1 <4+3;6) e
R:v¥/ by THY B:d—IKRT7H— EREe ]
> i 4 5 | SHERE 1:39.4 3-3-3-8 [43.1| — 3 509 | BiERZ (£R)
9 3| YA RIE-T 56.0 7 412) ) Tr-2bEVa>
R:TITRAFT I B:OAXETELR EvJILy RT77—L4
O I # 5 | BIURTF 1:39.6 11-10-11-10| 41.1 | — 9 493 | HARR (£R)
10|7|8|/N>T b>AY 56.0 () (o) | W) Fr—xbETa>
LHVARTAv 7 B=Z—XtwTrT1> BiE iy
N cae BREBAH . -10-10- — HiE— (£R)
» 6| K- kSaz7 i3 By 1.(450>.6 10-10-10-10| 42.1 6 (4;&55: AL .
RFEY KY1Z7 B:5TRU—L4 HAES
@ 1 — S —EBlIEf
13=7r= 4,1,3,9,2,(5,10),7,11,6,8
2= = 4,1,(3,9),2,(5,7),10,11,(6,8)
Jol=5r= 4,1,(3,9),2,7,10,5,11,6,8
43 —+— (2,4),9,1,7,(5,10), (3,11), (6,8)
[ N3
BB 2 200H 714K 2-4 150H % E 2-4 380M 3EHE 2-4-9 450M
8 B 2 1004 2-9 350M B 2-4 490M K31 2-4-9 1,530M
4 110 4-9 300M B E 2-4 320M
9 1804 B 2-4 550

ABICOVWTRDTEEERROODE. TR LIV,




